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2010 HSC - Chemistry
Question 29 Band 5/6 sample 3

Question 29 (6 marks)

The tlowchart shown outlines the process used to determine the amount of sulfate
present in a sample of lawn fertiliser.

Fertiliser weighed

Step | ) Dissolved + filtered + rinsed

Filtrate ~w Residue discarded
Step 2 I Addition of Ba**

Prccipitati()l:l. o
Step 3
Y

Filtered — Filtrate discarded

Step 4 | Rinsed
Dried and weighed

(a)  What assumptions were madc and how do these atfect the validity of this process? 3
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(b) It was found that 4.25 g had a sullate content of 35%. 3

What 1s the mass of the dried precipitate at Step 4? Include a chemical cquation
in your answer.
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